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1- Choose the correct answer from
those between brackets:

B2 T = (140,77, 14)
21 Z-N=..... (Z",N,{0}orZ")
[3] If the length of the radius of 2
circle is IB cini, then its surface area
. em” (77 = 3.14)
(3.14,31.4,314 or 3140 )
[4] In the experiment of rolling a
fair die once, then the probability of

appearing the number 5 equals ....

1 5
{ﬂ!EsEﬂrI}

Sl Hx—4=6,thenx=......
(6,7,80r10)
[o} 1i tlie area of a face of a cube =
4 em?, then its lateral area = ..... cm?
(12,16,320r64)
710+ )P =, (0.1,-10r2)
[8] The smallest positive integer is ...
(-1,0,20r1)
[9] If the length edge of a cube is 4
cm, then its total area=........
(64cm? , 16cm? | 64cm or 96cm? )
[l'ﬁ} IfSa.x = 10, then x = ....,
(2,5,100r12)
[11] The sum of measures of the
accumulative angles around the
centre of a circle = rreens”
(90,180,270, or 360)
[12] An integer number included
between -2 and 3 is .....

¥

[13] A circle of dfimeter !bngfﬁ 3

Em, then its area = ..... w cm?®
(4,8,16 0r64)

[14] The number which satisfies the

ol ] 0 doionl .. (i) el

[6]ZT L0l UZ =

[7]1 The additive neutral element in 7
. S » While the multiplicative

neutral element in 7 is

llllllll

[9] If the radius of a cirele is Tem,

22
O § ?}

then its area ..

{10] The lateral area of a cube =
........ chay S ....“m.,.

{11] The image of the point

(3 ,~2) by translation (-3 , 2)

[12] The image of the point A 4, 3)
by translation (=1 ,~8) is ........

[13] The image of the point (2,5) by
franslation (x , y)—s x+2,y+1)
R

[14] The image of the point (3,2) by
trauslation (x, y)~>(x+ 3,y +2)

e

[15] The set of solution of the

inequality -2 < x < zero in Zis ....

[16]Z=Nu....
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[1]21,34 210 [3] zero

oy o S ___ﬁlnfi 3ge

x=T7,The §8={7}
b4 x+1=17 4 x=17~1
4x=16 , x=16+4

x=4 ,The 8.8 = {4}
“'u_ﬁ__—ﬂ“-m
:_i‘- Find the :_:c!;;r_r{ﬁ set of the

following inequality:

3x~2 > (-17), where x £ Z,

3x-22(-17),3x > (-17) + 2

0- Essay questions:
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x> (=15, x>0
: x:;&ﬂﬁ““ﬁ“““ﬂ“ ‘"Tffﬁ
I Fi'..m....h -"-“wh oo
| TheS.S={-5,4,-3,2,..}
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mequality x > -2 15 ...,..

(-1,-4,-3or2)

[15] The measure of the angle of the
sector which represents i— the circle

equals ....° (90, 180,270, or 360 )

[16] |9l +3+2...Z(€,¢,Cor &)

{171 Hx+3=8and x € Z~, then the

solution set is ..... ({-3}, {5}, {-5} or ©)
[18] 28x25=.. ( 28, 215 , 48 or 415 )

{19} If the perimeter of one face of a

cube = 20 cm, then its total area = ...

(100cm?, 120cm?, 150cm? or 200cm?

[20] A coin is tossed 250 times, then
the closest expected number of

appearing a head = ....

(124,127,150 or 199)

1114 212 [31314 (4]
5110 6116 [7]0 [8}1
[9]196em?  [10]2 {11] 360
[12]-1 [13]16 [14]-1 [15]90
[16]¢ (1719 [18) 28

[19] 150cm* [20] 124
e e A i ———

2- Complete each of the following:

Lt sg s .

(in the same pattern)

1250 2 =......

3] -2l = 2= iune.
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[3] The lateral area of a cuboid
whose base dimensions are 3 cm, 2

cm and its height is 4 cm equals ...

[4] perimeter of the base x height
[5] 40 cm?* " [6] Z

[7)0,1 [81{-2} [9] 154 cm?
[10] the area of one face x 4

10,0 [12)5,-2)

131 (4,6) [141(6,49)

15} {-1,zero } |16} {7}

117] 1 [1812  [19] zere

{20} sample space

3- Neveen used a piece of card

cartoon squared shape of side length.

80 ¢m. with tools tﬁ-&é:si_gn* a cuboid

of length 40 cm. ? width 20 ¢m. and

height 30 cm. S.h-éew if -t.he-.pii@ﬁ; of
card cartoon is enough to design the

cuboid or not.

The area of card cartoon = BO X 3{}

= 6400 em*

The total area of cuboid

= (40 +20) X 2 X 30 +2 X 40 X 20
= 5200 cm®

The piece of card cartoon is enough

to design the cuboid.

4- Find the solution set of each of the

following equations:

[a] x -2 =35, where x € 7,
bl 4 x+1=17, where x € N.

[al x-2=5,x=58+2

ot St b s e e 4
lid, has g base with dimensions 4
metres and 3 metres and is h-e:ighi
metres f}_g_@_h (a) Its base area. |
(b) Its lateral area. |
(¢) Its total area.
'

(a) Its base area =3 x4 = 12 m’
(b} T.h;el&ter’al area

=[(3+4)%x2] x2=28 m?
(¢) The ttﬁal area =28+ 12 =40 m

(2] A box contains 6 white balls an
9 red balls, all are identical, if a bs

is drawn ran éﬁiﬁiﬁg-'ﬁﬂlcﬁ!ﬁtﬂlﬂlﬂ

fﬂﬂg}wing pmi}ﬂhﬂiﬂﬂﬁ*

(1) Drawing a white ball.

(2) Drawing a red ball.

(3) Drawing a ball not red and not

: o | 6 = ...Z..
{1) P{a white ball} i

_white,

b
15

wiiekiny
i

(2) P(a red ball) =

(3) P(a ball not red and not white) =

i
==0

{3] Draw A ABC, where A (1, 1), B
(3 ,~1) and C {0, -5), then determ

~graphieally its image by translation

(5, 0).

A(l,1) =A@,

B(-3,-1)>B2,-D



[4] In the opposite figure:

A circle M of radius
length 6 em is divided

into 8 circular sectors

equal in area,

Find the area of one sector.(m= 3.14)

The area of the circle = p?
=3.14 X 6® = 113.04 om?

The area of one sector =113.04 = §
= 14.13 cm?

{5] In the figure below, M is a circle

of radius length 5 cm, a rectangle is

drawn inside it, its length is 8 cm

and width is 4 om.

Calculate the area of

the shaded part. (n =

E or 3.14)

The area of the cirele = 7r 12

‘?BSmI

The area of the rectangle

area of the shaded part

T —

_‘...-\--'..1:'-. ,l.l.. Ili Ly o

=4 % 8=232 cm?.

=

-----

The measure of the central angle for

= _E!E_ i
Computer = e X 36 108°

The measure of the central angle for

. 2 m.ﬂ. 39 =— o
Music = 360° =72

The measure of the central angle for

% 360° = 9¢0°

Sports = ﬁ

25%

Sports
5%

{?] Arrange in an ascending order:

(=2)% (=3)% (-4)°, (-1)"5, 32

(~2)°=-32,(-3)*=81,

(—4)0=1,(-1)%=-1,32 =9,

The order is:
(=2)5, (—-1)5, (—4)°, 32, (—3)*

i Lo O B
[10] Find the result of: > ;1{3[* J

3x(=3)° . B°x3% 5 3
g @ gt

[11] Find the value of each of the

fﬂllnﬁing:
(=3)*x(-3)* 95 x(~9)?
) (-3)% ) o

K{hm (_.-.-.-3 2 =1
}*ﬁ"{—tﬂlw 92 = g1
92%(=(9)%) -9’

[12] Find the S.8. of each of the

-

e i,
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)] A container water tank is in the

m a cube whose inner

ngth is 1.5 m, It is wanted to paint
to prevent the rust. The cost price
one Squarﬂ meter 18 LLE 15,

Iculate the cost of painting,

he area of one face
=15 x 1.5= 2,25 m?
e total area = 6 X 2.25 = 13,5 m?
1e cost of painting
=13.3x15=L.E 2025

1 Use the properties of
mitiplication of integers to find

- {(~4) x 56x (-25)
d) X 56 x (-25) = (~4) x (~25) x 56
(Comm utative)
4) % (~25)] x 56 (Associative)
(0 x 56 = 5600

The following table shows the
centage of pupils takino a part in

ferent school activities:

T v i-.-

Sperts

fem

-
tivity| Z | & |
: | &

o 25%‘[}1}% I;ﬂ% zs%l

present these data by a pie chart.

The measure of the central angle |

Rl 2 == OfH°
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represent the S.8. on the number
lne:

(a)2x+1<7, where x € .

(b)2x -5 < -7, wherex € Z

Answers|

(@)2x+1<7, 2x<7-~1

{13] Find the solution set of each of

the following equations:

(a) 8 x =32, where x € N.

[b] 3 x + 1 =16, where x € N,
I} 3 x =2 = (~19), where x € Z.

(a)8x=32,x=32+8

X=4,The 8.8 = 4}

b)3x+1=16,3x=16-1

3x=15, x=15+3

x=5 ,The 8.8 = {5}

(©)3x~2=(-19),3x = (~19) + 2

3x=(17)

xX= -(:—-— {1mposﬂible in Z)

TheSS=¢
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